\//

s \\\

"
Circuits Analysis

By Rawan Alfares

STUDENTS-HUB.com Uploaded By: Rawan Alfares



STUDENTS

Voltage and Current laws

Node: A point of Conneclion of fwo of mo CilCut elements

looP : Ann Closed Paj’h ‘Pn(wﬂh Ye Cifcuit in which no node is Crsssed
rmofe. Won once .

Hosh: Mg loop that estt Coboin within i} o 1oop leids ogf@w
waoﬂ)e/ [ooP. “ minimum nemoel of leopPs?

N\

% ue hate M leofs

o % we have 3 Mesh (1-3)
Yionot mesh sine & has

inside it 2 loofs.
% F nodes.
o
. Y leoPs
T ( * nodes

©
I%@ )®i ¥ Yloops , 4 mesh.
v ¥ 3nodes

Series Connections

ANl of e elements in aCird thaf Caty dhe_Same. Cuttent afe Said to be
Connedu! in Sefies

\IS\

=0 Closed path .(g;s;u)_d))

-HUB.com Uploaded By: Rawan Alfares




STUDENTS

Parallel Connections

elements in a Cif Cuil haum 0. Common \oltage @ Closs Yem ale
Said to be Comechkd in a.rb,lle/l

o o dide
5A /%f N l 7 @K_ &SJJ\*QS'-:‘ *

% hawing theSame Vol
¥ 2‘1{%_0 \-O%Q

exampPle s W

MAL

<—
O

@ m?

Kirchhoff Voltage Low KVL

KVL?:\\;V\Q 8\331’:?;“&,"" ?E-O;Ww old age asound any looP i Telo.

exam Ple,:

3ov

I 3on ¥ Az
[ | Jos\\\o\vs\wj\»\\om\og\\*
T % Whoge

Lnd T
ZV=zo
0 =320L+36+\51 -\
Q= U571
T=2A

2 ¥nd Vb eadh R
\/M: TR -(Q)306) =60 T
V :TQ: @(lg) =20 \7
Se

-HUB.com Uploaded By: Rawan Alfares



Lhnd T
0 Frorm Yo S'»‘a,\uf&
Wp=-51T —®

method 1. <Nz
o=30T QW+ 15T -1 -0
0=30T - 30T +15T - 10O subshibds, in ©
1o =T
\5
=3A —> \Vp=-'$x3 . -0V
med 2| €V =
© < BOI VA VA - o Vp= AST
6 =30L +V-120
(0] :Bo T -\S3T -0
o ='5T -0
JQQ. :'.[
15
T -3A

3. Calcdale Hhepower absotbed by each Ciruil elements 8-
Pa =(B)(1) ="A60 W

Q = @)(30) = \qQ0O W

300

Py = (305) = 96 P, =(B(D(-1W) = -\AQo
g = o W
sP ] I?_R P=TV

exampPle -

STUDENTS-HUBZ8M Uploaded By: Rawan Alfares




Kirchhoff Current Low KCL
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Series And Parallel Sources
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Impossible Circuits
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